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Yeovilton A2 scenario

Probability density of getting a certain change in the number of cold nights
Heavy red line: scenario period (2071-2100) — ensemble mean
Coloured lines: scenario period (2071-2100) — ensemble members

0.15 FWinter

20

0.15 FSpring

20

0.15 [Summer

10

20

0.15 [Autumn

10

-30 -20 -10 0 10
Number of cold nights

20

Number of cold nights

0.15 FWinter ]
o1} i
0.05 | i
o ,
=30 -20 -10 0 10 20
0.15 | Spring 1
o1} i
0.05 | /\ i
o . , ,
-30 -20 -10 0 10 20
0.15 f[Summer ]
o1} i
0.05 A i
o . , ,
-30 -20 -10 0 10 20
0.15 [Autumn 1
o1} i
0.05 | /\ 1
o s , , ,
=30 -20 -10 0 10 20
0.15 [Annual ' ' 1
01} i
0.05 | i
o . . ,
=30 -20 -10 0 10 20



